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Find the volume of the
region between

the curves
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Section
Suppose I take the region OEXEG OEYEIX.kid
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a solid three
dimensional shape,

called a
" solid of revolution .

In this case we get a cone whose volume is FCA react bad (height
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We want to use calculus to find the volume of this solid .
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We use an integral to add
volume of each disk

the
volumes
of all the disk , €13thickness -
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The disk method

The washer method
Take this region
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Formula for volume of washer
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A- radius of outside of washer✓ r - radius of hole
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